APES Unit 6                                                                                                                                                            Name:
APES Population Growth Practice KEY
1. In 2000, there were 30,750,087 people living in Canada, which has a total area of 9,984,670 km 2.  What was the population density of Canada?

Population density = total population = 30, 750, 087 people =  3.080 people/sq km


           total area
    9,984,670 sq km
2. In reality, there are a lot of fresh water lakes in Canada, about 891,163 km 2 of lakes.  What was the population density of terrestrial Canada in 2000?

Population density = total population = 30,750,087 people = 3.382 people/sq km


           total area
       9,093,507 sq km
3. In 1999 with a beginning population of 30,491,000 people, there were 335,500 births in Canada.  What was the birth rate, expressed as per 1000?

Birth rate =          # of births      x 100 % = 335,500 births     x100% = 11.0%

               # of people   

     30,491,000 people
4. In Canada during the same year there were 225,500 deaths, 205,711 immigrants and 41,142 emigrants.  What was the growth rate for Canada, expressed as a percentage?

Growth Rate = (335,500 + 205,711) – (225,500 + 41,142) x 100% = 0.90%
                      

            30,491,000
5. How many years will it take for Canada’s population to double?

Rule of 70      70/.9= 77.8 years
6. The population density of California is about 82 people per km 2.  How much more densely populated is California than Canada (total area)?  

82 people/sq km   =   26.6 times more densely
3.080 people/sq km
7. What are two reasons that California is more densely populated than Canada?

More of California’s land is industrialized and the climate allows for more food to be produced. 
8. In 1997, the population of Hawaii was 1,115,274 on a total surface area of 6,423 square miles.  What was the population density of Hawaii?

Population density = 1,115,274 people = 17.95 people/square mile



6,423 sq mi
9. List 3 reasons why the government of the Sudan would want to know the population doubling time?

10.             1. They would want to know to make sure they produce enough food for everyone

11. 
2. Housing

12. 
3. Sanitary Services

13. 
4. Medical Care

14. ** This list is not exhaustive
15. List one reason why the government of France would want to know the population doubling time?

1. Evaluate energy needs

2. Evaluate food needs

3. Evaluate educational needs/facilities, etc
** This list is not exhaustive
